
utltixl-vuxltixt-wlhxiultixllulaxl-gixic-C.HR)
ñ

1×11-11 CURVE IN 'R2

2-

ltt-ultixltllz-YH-utltixltll-uxltixltllxYHHOI-ulo.NO/1--glxlOl1fxYH--olt,✗It/1. . . . CHARACTERISTIC

wltixltliultixltlltwltixlthzltll

V

xYH=- 014×141
2-
'

lH=w /talk , 2-11-11

2-101=81×10111×101c- IR.

/ UW .. .

CONTINUOUS

Vxiwx ,Wu ... CONTINUOUS

UNIQUE (LOYAL) SOLUTION 1×11-1 , 2-11-11

I
ultixltll-z.lt/... SOLUTION ALONG THE CURVE AHHH

- 14×11-4 uHxHN

¥ 14×11-1,01



TO OBTAIN A SOLUTION ON ALL OF /R2

^,g¥¥ᵗ, """""" "" """⇒≤ ""⇔OF ✗101 .

É

PROBLEMATIC : CHAR

!,
CTERISTICS CROSSING

✗211-1

xiltlt:÷
.

Zittel--ultoixiltoll-i-ultoixsltdl-e-zs.HN

:/¥
FINE CANNOT OBTAIN A

GLOBAL CLASSICAL SOLUTION


